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l'pip install numpy
import numpy as np

np.array([2, Z]]
np.array([Z2, -1])

print(ath)
print(a-b)
print(Z%a) # X2 FILOTFHE
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Requirement already satisfied: numpy in Jusr/local/lib/python3.6/dist-packages (1.18.5)
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NUmpy as

a = np.array([2, 2])
b = np.array([Z, -1]]

norm a = np.linalg.norm(a)

norm b = np.linalg.norm(b)
print("a, bD#EFIE:", norm_a,”:”, norm_b)
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10 dot_ab = np.dot(a, b)
1T print("a, bdOAFE:", dot_ab])

a, bhigx{g: 2.8284271247461803 - 2.23606797749979
a, bhAFE: 2
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F (2, 2)

|F| =242 N

45°
A Xl =3 > Xx(3, 0)
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F (2 2)
|F| =292 N
| F| cos45° [def] 4%E: = B =008k x Bi < AAEIZAMN 2= 7
N 45° = |x| |F| cos 45°
> x(3, 0)
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numpy as np
math
carray([2, 2])
carray([Z, -1]1)

np. linalg.norm(a)
np. linalg.norm(b)
, bDigyt{E: ", norm_a,”:”, norm_b)
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np.dotia, b)
, bDAFE:", dot_ab)
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a, bigyt{E: 2.8284271247461903 . 2.23606797749979
a, bdbANFE: 2
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numpy as np
math

carray([2, 2])
carray([Z, -1]1)

norm a = np.linalg.norm(a)
norm b = np.linalg.norm(b)
print("a, b@EE:", norm_a,”:”", norm_b)

dot _ab = np.dotfa, b)
print("a, b@ANFE:", dot_ab)
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theta rad = math.acos( dot ab/(norm_a % norm b) )
print("X2 FILEOABE: 7, math.degrees(theta rad))
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a, bigyt{E: 2.8284271247461903 . 2.23606797749979
a, bdbANFE: 2
~9 RILEOCAaE: 71.56506117707799
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import numpy as np

= np.matrix([[1, 3], [5,
= np.matrix([[2, 4], [6, ©
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7 print("AB= ¥n", AxB)

9 print ("BA= ¥n", BxA)
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| Import numpy as np

7

A = np.omatrix([[b, 3], [, 11])
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B Ainy = np.linalg. inv(4)

7 print(Ainy)

3. ]

[[-T.
[ 2. -b.]]




5x+3y=9
2x+y =4
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= np.matrix([[H, 3], [2,
B = np.matrix([[9], [4]11)
# AT R 7 Z

Adinyv = np.linalg. inv(A)
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print(Ainv)
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10 print(Ainv ¥ B )

[[-1. 3.]
[ 2. -5.]]
[[ 3.]
[-2.]]




5x —4y +6z=28
7x — 6y + 10z = 14
4x +9y + 7z =74
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import numpy as np

]

?

3 np.matrix([[b, -4, 61, [7, -6, 10],[4, 9, 71])
4 np.matrix([[8], [14], [74]1]]
b 4 WiTH| xRk 3

B Ainv = np.linalg.inv(A)
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print(Ainy)

f ETAFREIVORELD D
10 print(Ainv x B )

[[ 1.2941176b5 -0.80392157 0.03921569]
[ 0.08823520 -0.10784314 0.07843137]
[-0.86294118 0.59803922 0.01960784]]
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matrix([[2], [4]1])

np.matrix([[1, O], [0, -1
np.matrix([[-1, O], [0, T
np.matrix([[-1, O], [0,
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import numpy as np
import matplotlib.pyplot as plt
import math

P =BFOIES 15T DT L <
p = np.matrix([[1, 3, 3, 1], [1, 1, 2,

& = np.matrix([[1, O], [O, -111)

¥ —RE <E ISR
pZ = A ¥ p
print(p2)

p = np.arravip)
p? = np.arrayv(p?)

plt.plot(pl0, :1, pl[1, : ]}
plt.plot(p2[0, :1, p2[1. : 1)
plt.axis(Tequal ")

plt.show()
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